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Introduction
In the RAN4#106bis meeting, we provided our simulation results in contribution [1]. For ATG synchronized scenarios, 45dB ACLR / 46dB ACS for ATG BS can be reused to guarantee coexistence between ATG system and TN system.. And 30dB ACLR / 33dB ACS can be reused for ATG UE to guarantee coexistence between ATG system and TN system.

In addition, we had the way forward [2] on how to capture the simulation results for ATG co-existence evaluation. 

	Agreement:
· Companies are encouraged to provide simulation results on top of following template to captured into TR
· One table per scenario
· Both table and plot are suggested to collect simulation results.
· following show the template plot
· X axis is ATG BS/UE ACLR/ACS (as appropriate) to make it easier to directly read off from the plots that meets the 5% throughput loss requirement.
· Y axis is the throughput loss the ATG BS/UE ACLR/ACS value 
· Following table 1 show the template table
Table 1: template table to collect simulation results
	Company
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) assuming the same ACLR and ACS as TN

	
	
	
	Maximum distance between ATG BS and ATG UE

	
	
	
	100 km
	300 km

	[Company 1]

	Non-Subarray
	5% in the whole network
	
	

	
	
	Average of all users in the whole network
	
	

	
	
	5% of users within the cell with largest throughput loss for the case of TN UL victim note 1
	
	

	
	
	Average of all users within the cell with largest throughput loss for the case of TN UL victim note 1
	
	

	
	Subarray
	5% in the whole network
	
	

	
	
	Average of all users in the whole network
	
	

	
	
	5% of users within the cell with largest throughput loss for the case of TN UL victim note 1
	
	

	
	
	Average of all users within the cell with largest throughput loss for the case of TN UL victim note 1
	
	

	Note 1: only applicable for scenario 2 and 10







In this paper, we’d like to share our simulation results based on the latest template.
Discussion
Referring to TR 38.876 [3], we have the following synchronized scenarios.
Table 1 synchronized scenarios for ATG coexistence study
	No.
	Combination
	Aggressor
	Victim
	Simulation frequency
	Notes
	Study Phase

	
	
	deployment scenario
UL/DL
	CBW
duplex mode
	deployment scenario
UL/DL
	CBW
duplex mode
	
	
	

	1
	TN with ATG
	ATG DL
	100MHz
TDD
	TN rural DL
	100MHz
/TDD
	3.5 GHz
	
	Phase 1

	2
	TN with ATG
	ATG UL
	100MHz
TDD
	TN rural UL
	100MHz
TDD
	3.5GHz
	
	Phase 1

	3
	TN with ATG
	TN rural DL
	100MHz
TDD
	ATG DL
	100MHz
TDD
	3.5GHz
	
	Phase 1

	4
	TN with ATG
	TN rural UL
	100MHz
TDD
	ATG UL
	100MHz
TDD
	3.5GHz
	
	Phase 1

	9
	TN with ATG
	ATG DL
	20MHz FDD
	TN rural DL
	20MHz FDD
	2 GHz
	
	Phase 1

	10
	TN with ATG
	ATG UL
	20MHz FDD
	TN rural UL
	20MHz FDD
	2 GHz
	
	Phase 1

	11
	TN with ATG
	TN rural DL
	20MHz FDD
	ATG DL
	20MHz FDD
	2 GHz
	
	Phase 1

	12
	TN with ATG
	TN rural UL
	20MHz FDD
	ATG UL
	20MHz FDD
	2 GHz
	
	Phase 1



Simulation results
All the simulation assumed that maximum distance between ATG BS and ATG UE is 100km.
Scenario 1 (4GHz)
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG BS ACLR 45 dB
	Throughput Loss (%) at ATG BS ACLR 44 dB
	Throughput Loss (%) at ATG BS ACLR 43 dB
	Throughput Loss (%) at ATG BS ACLR 42 dB
	Throughput Loss (%) at ATG BS ACLR 41 dB

	Non-Subarray
	5% in the whole network
	0
	0.05532
	0.30621
	0.49989
	0.51064

	
	Average of all users in the whole network
	0
	0.01759
	0.03568
	0.05672
	0.05946



Scenario 2 (4GHz)
	c
	Performance Metric
	Throughput Loss (%) at ATG UE ACLR 30 dB
	Throughput Loss (%) at ATG UE ACLR 29 dB
	Throughput Loss (%) at ATG UE ACLR 28 dB
	Throughput Loss (%) at ATG UE ACLR 27 dB
	Throughput Loss (%) at ATG UE ACLR 26 dB

	Non-Subarray
	5% in the whole network
	0
	0
	0
	0
	0

	
	Average of all users in the whole network
	0
	0
	0
	0
	0



Scenario 3 (4GHz)
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG UE ACS 33 dB
	Throughput Loss (%) at ATG UE ACS 32 dB
	Throughput Loss (%) at ATG UE ACS 31 dB
	Throughput Loss (%) at ATG UE ACS 30 dB
	Throughput Loss (%) at ATG UE ACS 29 dB

	Non-Subarray
	5% in the whole network
	0.1777
	0.30314
	0.48804
	0.51178
	0.95954

	
	Average of all users in the whole network
	0.2344
	0.24167
	0.34044
	0.38139
	0.58237



Scenario 4 (4GHz)
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG BS ACS 46 dB
	Throughput Loss (%) at ATG BS ACS 45 dB
	Throughput Loss (%) at ATG BS ACS 44 dB
	Throughput Loss (%) at ATG BS ACS 43 dB
	Throughput Loss (%) at ATG BS ACS 42 dB

	Non-Subarray
	5% in the whole network
	0.22464
	0.23587
	0.24527
	0.27195
	0.29602

	
	Average of all users in the whole network
	0.001773
	0.038085
	0.038359
	0.042005
	0.045876



Scenario 9 (2GHz)
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG BS ACLR 45 dB
	Throughput Loss (%) at ATG BS ACLR 44 dB
	Throughput Loss (%) at ATG BS ACLR 43 dB
	Throughput Loss (%) at ATG BS ACLR 42 dB
	Throughput Loss (%) at ATG BS ACLR 41 dB

	Non-Subarray
	5% in the whole network
	0.21915
	0.22515
	0.24044
	0.26619
	0.28541

	
	Average of all users in the whole network
	0.011378
	0.011813
	0.011871
	0.011901
	0.012177



Scenario 10 (2GHz)
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG UE ACLR 30 dB
	Throughput Loss (%) at ATG UE ACLR 29 dB
	Throughput Loss (%) at ATG UE ACLR 28 dB
	Throughput Loss (%) at ATG UE ACLR 27 dB
	Throughput Loss (%) at ATG UE ACLR 26 dB

	Non-Subarray
	5% in the whole network
	0
	0
	0
	0
	0

	
	Average of all users in the whole network
	0.024655
	0.024748
	0.024962
	0.025592
	0.025972



Scenario 11 (2GHz)
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG UE ACS 33 dB
	Throughput Loss (%) at ATG UE ACS 32 dB
	Throughput Loss (%) at ATG UE ACS 31 dB
	Throughput Loss (%) at ATG UE ACS 30 dB
	Throughput Loss (%) at ATG UE ACS 29 dB

	Non-Subarray
	5% in the whole network
	1.3613
	1.5249
	1.9196
	2.0489
	3.6495

	
	Average of all users in the whole network
	1.0258
	1.2708
	1.4767
	1.4855
	2.3524



Scenario 12 (2GHz)
	ATG/ TN BS antenna model
	Performance Metric
	Throughput Loss (%) at ATG BS ACS 46 dB
	Throughput Loss (%) at ATG BS ACS 45 dB
	Throughput Loss (%) at ATG BS ACS 44 dB
	Throughput Loss (%) at ATG BS ACS 43 dB
	Throughput Loss (%) at ATG BS ACS 42 dB

	Non-Subarray
	5% in the whole network
	1.7028
	1.75304
	1.8123
	1.8942
	1.9173

	
	Average of all users in the whole network
	0.0012431
	0.00174585
	0.00199447
	0.0020431
	0.00229447



Based on the simulation results of synchronized scenarios, the ATG ACLR and ACS requirements are proposed in the following table.
Table 2 Agreed ATG ACLR and ACS values based on synchronized scenarios
	ATG
	Values

	BS
	ACLR
	45

	
	ACS
	46

	UE
	ACLR
	30

	
	ACS
	33



Summary
Proposal 1: the ATG ACLR and ACS requirements are proposed in the following table.
Table 2 Agreed ATG ACLR and ACS values based on synchronized scenarios
	ATG
	Values

	BS
	ACLR
	45

	
	ACS
	46

	UE
	ACLR
	30

	
	ACS
	33
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